Math 101 Homework-6 Solutions
May 2004
Page 564, Exercise 23:
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Page 564, Exercise 26:
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Page 601, Exercise 50:

Let u = cos™* (g), and apply by parts to obtain
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Page 601, Exercise 52:

Apply tabular integration to obtain
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This gives /x2 cos(1 — z) dz = 2 cos(1 — z) + 2z sin(l — ) — 2cos(1 — z) + C.



Page 601, Exercise 54:

Let I = /e_zx sin 3x dx. Apply by parts with u = sin 3z to obtain
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I=——e*sin3z + = / e %® cos 3z dx.
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In the last integral apply by parts with « = cos 3x to obtain
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I = —56_296 sin 3934—5 |:—§€_2$ cos 3x — 3 / e~ sin 3z dm} = —56_290 sin 3$—16_2z Ccos 3$—ZI.
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Solving for I gives | = ——e > sin 3z — 1—36_2”“" cos 3z + C.
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